Timing[ﬂ@{xs,le,zs,u [w, V], i28,3,29,19 [w, V], Xz6,20,27,19 [W, V], i27,23,11,24 [w, V],
X1,12,13,30 [U, W], i13,5,14,25 [u, w], X17,26,18,25 [Us W], i1:3,29,8,30[“: wl,
Xa,7,22,15 [V, Ul, i22,2,23,16 [v, ul, Xze,17,21,16 [V, U], i21,14,9,15 [v, u] } =

ﬁ@{xs,s,zs,n[wx V1, X25,4,26,22 [Ws> V1, X29,23,30,22 [W> V1, X30,20,12,21 [W, V],
X3,11,16,27 [Us W], i16,6,17,28 [u, W], Xi4,29,15,28 [U, W], Y15,25,7,27 [u, w],

X3,8,19,18 [V, U], X19,1,20,13 [V, U], X33,14,24,13 [V, U], X24,17,10,18 [V, U] }]



